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Instruaciions ;

(M Al questions are compulsory o solye
(1) Question Nos, 1 (o &

S are objective type Questions which contains choose the
» ANSWEE i one word. (1l up the bi
True or lalse cte. Bacly question ¢

correct alternatives anks, match the columns,

iwries § marks,

(i) Question Nos. ¢ 10 10 are very short answer lype questions. Each question
carries 2 marks. Word limit 30 words.

(iv)  Question Nos. 11 to 14

are short answer type questions. Each question
carries 3

marks. Word limit 75 words.

(V) Question Nos. 15 10 21

are long answer type questions. Each question
carries 4 marks. Word limit 120 words.

(vi) Question Nos. 22 to 26 are essay

type questions. Each question carries 5 marks.
Word limit 150 words,

(vii) There is no limit of words in numerical questions

(viii) Question Nos. 6 to 26 have internal choices.

Hﬁﬁmgﬁq I1x5=5
(1) ™ ud =9 @mar s o § -

i) i zr (i) =i dwenat g
(iii) THH =E TR (iv) # &ra

() wmra W oy awfim e ow enfue wEe ¥ -
() o\ wmy (i) wH= @™

(iii) emﬁﬁqaa GIL (iv) Afery

(®) a?aﬂ'{awaﬂtgr&rmfa‘mm_% 1ﬁraﬂ?r%a—nméaﬁwq
AN B % | 8 o ¥ & @ e g -

1) TR (i) 3:1
(i) 2:1 (iv) 3:2
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@ Gl aeer @ defrfn o gE PR Rl e e
() 3ud wa ow @nfd & e
Giy wi @ wnfa & i
(i) U @y & wng dl @l 4 aie
(iv) =0 A @lg el

(3) dfea @ 3 w@E @l BEiar fhar s
(i) el @i o (i) a4 i 4
(i) d& @i ¥ (iv) A0 i o

Choose the correct options

(a) Income and expenditure a/c is made
(1) By lirm (i) By non-trading concerns
(iti) By sole trader (iv) By company

(b) Excess of actual profit over normal profit is called

(i)  Avcerage profit (ii)  Normal prolil
(iii) Contingent profil (iv) Super profit

(¢) A and B share profits and losses in the ratio of 3:1. C is admitted into
partnership for P sharc. The sacrificing ratio off A and B is -

(i) equal (iiy 3 1
(1) 2 1 (iv) 3 : 2
(d) On retirement ol a partner. his capital account will be credited with -
(i) his share of goodwill
(i) goodwill of the firm
(iti) shares of goodwill of remaining partners

(iv) nonc of these

(¢) The accumulated profits and reserves are transferred to
(1) Realization account (i1) Partner’s capital a/c
(ii1) Bank a/c (iv) lLoan a/c

I

i

ik
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(0 st equ awnt e @@ ) weren A oS e ¥ v

() uRar g gy s wa fem s 37

(W) oo, wfy ol gal @ oan w5032 8 At gy widare ¥ )
iy t;,:} 0 Heak *lefet Bl B ST g-n‘q ferertm o SRR D (a0l S

(@) il e wy fxenforar vt fap 'Afhﬁ‘ A Y

(®) W s wreteroo dhaw gy qg A R e 7

Answer in one word / senfences

(a) By which accounts help the income and cxpenditure account is
prepared ¢

(b)  When a firm can pay inferest on Pf"”””q capital 7

(¢) Avika, Mahi and Khushi are pdrlmrs Hhcl]"ll'tj;, profits in the ratio
5:3:2. Mahi retires from the firm. W,hal will be the new profit
sharing ratio ? N

(d) Insolvent of all the partners lcads lntwhu.h type of dissolution ?
(¢) Which type of debentures can be trafisferred by mere delivery ?

3 fea wrEl @ gff Wifio 1%5=5
(@) orew Rafr aro W@ @ T @ T
(@) Mﬁﬂ*ﬂ%uﬁﬂmuﬁm&raﬁﬁs&qmgﬁ;ﬁ
wrd, W hixe frar wmar &
(@) mﬁaﬁﬁmﬁrw&zﬁrmﬁﬁh:ﬁ;l
@ Wi fomear w ¥ afufd & ww § waala a6
(¥ omed @ auE A AR E
Fill in the blanks :
(a) By product method, interest on is calculated.
(b) On the admission of a new partner mucasc in the value of assets
is credited in a/c. &y
(¢) Decrease in value of liabilities is fiFm’s
(d) On dissolution of a firm, bank overdraft is transferred to
alc.
(¢) The ideal current ratio is
320 | / E-826 4 [ERIERN MR P.T.O.



Ln

e TE 9Ey 1x5=5

T!aTH
!la'ﬂ
(31) &ad =fE & - ¥
@) () o — 2?) m@g IR WA €
(®) ﬁ@ﬁ‘fﬁfenﬁaﬁ (i) B wwhy
g)) H”;%‘T B HY o (iv) 41 gurd - JUAT Fgurd
T & Pt o wddr (v) UEER & wad E oo

(vi) U i@ — 97 AT

Match the columns :

"An ngn

(a) Only individuals (i) At book value

(b)  The gaining ratio is equal to  (ii) Investing activities

(¢) The assets are shown-:in (iii) Fictitious assets
realization A/c

(d) Purchase of fixed asséts (iv) New ratio — Old ratio

() Discount on issue (v) Can become partners

of debentures _
(vi) OId ratio — New ratio

T | oEd farey 1x5=5

() wifid ofit g @ @i qeirma wieal s g & oA ¥ o

(@) wEErd sewd X fpar T uRedd & #1 qTieT e §

(@) Jarhrga / ga AR @ T H g Chged A feed # = At
fepar wmar & |

@ uE P Fwdl gfaErer ST TR

() SoHemd @ HEA G ofErd f wed ¥

Write True / False :

(a) Receipt and payment-account is a summary of all capital receipts
and payments.

(b) A change in partnership agreement amounts (0 reconstitution of
partnership firm. =

(c) Retiring partneﬂdeceaéed partner may be paid in one lump sum
or instalment with interest.

(d) A private company does not issue the prospectus.

(¢) Debenturcholder is also called sharcholder of a company.

320 | / E-826 5 AR, 2. T.0.




A7 —careraitis wer @t o fefeg |

Write the meaning of “non-trading organization’.

6

dquar / OR

Y9y afrm e @wed € 7

Who are professional persons ?

7 @ @ U w® e 7
What is sacrificing ratio ?
Jqyr / OR
TH F FguR w1 o Rfag |

Write the meaning of gaining ratio.

8 @ oua =W ¥ 7
What is quick'ralio ?
™ / OR
B HT F AT T GEHS § 7

What do you understand by long term loans ?

VTl R & R vl % am ffee 1 @ @) 2
State the names of different tools of financial analysis. (any two)
YA / OR
ferira fagerowr o o gt fafga |

Write any two limitations of financial analysis.

320 | / E-826 .
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10

11

B W U § e amerm ¥ 7 2
_ What is meany by Gross Profit Ratio 9
dJgar / OR
T W B fed R S a7 E 7
How would you find out the cost of goods sold ?
Rert ot qen uftedwshe of @l & @ 9w o fafam | 3

Write any three differences between fixed capital and [luctuating capital

account.

A / OR
HEA Td B Th BH W 3:2 & U H @Y T TN 6 e %
R ¥ 1A TR A W % R wder @ ¥ o s A S

T H %, 50.000 2 &Y M 9 € 131 ", 2015 @ ' @ %, 1.60.000
B WM I | FEHR fog A-E RS ar S

Kajal and Kamini share profits and losses in the ratio of 3:2. They admit
] : . : :
Rahul as a partner with 1 share in profits with a guarantee that his

share of profit shall be at least Rs. 50.000. The net profit of the firm
for the year ending 315" March. 2015 was Rs. 1,60.000. Preparc Profit

and Loss Appropriation A/c.

320 | / E-826 7 R r.7.0.
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Write difference between dissolution of partnership and dissolution of

partnership firm. (Any three)

Jq9ar / OR

gitrr afit wifeer qEER ¥ | o @ R egeE 302 F 1 31 Wy
2017 & S fazer fra ¥ |

31 W, 2017 F i or At w1 T

ghmr & ¢ 32,500 | Qs ot ¥ 40,500

qfw @ o 11,500 | =& 7:500
fafre |9t 48,000 | fafay z==me @ 21,500

Haa B 13,500 | - e : 500 | 21,000

el et 36,500

1,05,500 | 1,05,500

L

o N

3lqﬁ,2OITﬁrWﬁmﬁI§ﬁﬁW|ﬁWH\ﬂﬂmﬁﬁﬁﬁ§ﬁmmz
(1) iﬂ?{rﬁﬁﬁ%@iwaﬂﬁﬁgﬁl-

(2) E'T?ﬁ'@f'ﬁ 7,000 =g« TT |

(3) @l g=tgal ¥ % 42,000 g U

(4) ager =g 6. 1,500 | | ;
(S)IﬁwﬁﬁwmeWI | I

320 | / E-826 B | 8 I ?.7.0. |



Supriya and Monika are partners who share profit in the ratio of 3:2.
Following is the balance sheet as on 315t March, 2017 :

Balance Sheet of Supriya and Monika as on 31 March, 2017.

Liabilities - Amount | Asselts - Amount
_ (Rs.) (Rs.)
Supriya’s Capital 32,500 | Cash and Bark 40,500
Monika’s Capital 11,500 | Stock ;"‘ 7,500
Sundry Creditors 48,000 | Sundry Debtors : 21,500
Reserve Fund 13,500 | — Provision¢™s 500 - 21,000
Fixed Assets : 36,500
1,05,500 ' 1,05,500

The firm was dissolved on 31st March, 201:?, prepare Realization
Account from the followmg informations :

(i) Debtors realized at a discount of 5%.
(i) Stock realized at Rs. 7,000.

(iii) Fixed assets realized at Rs. 42,000.
(iv) Realization expenses of Rs. 1,500.
(v) Creditors are paid in full.

13 afad frees = gwsmu |

- Explain the compulsory dissolution.
Ha1 / OR

qgell @rar |’ g 7

What is a realization account ?

14 aﬂTaﬁTﬁﬁﬂﬁﬁEﬂ?WﬁTﬁéﬂl l
Write the difference between share and stock (any three)
s / OR '
T Wit A A T A 5. 50 A 80,000 wHAT, syt Frff Ry 1w
TR T 9 UHYIT WK B S | HE9Eh wHw Wianedl iy |

A limited company issued 80,000 equity shares of Rs. 50 each to the

public. The whole amount received on applications. Pass the necessary
journal entries.

320) / E-826 | | 9 (AR ARMMOm - P.r.o.



15 GEErd & e 9R faovaet @ oo i |

Explain any four characteristics of partnership.

~

YA / OR

T T AT S & GERR ¥ | wwe go @A B 40,000 e
T 80,000 & | 99 F ofF ¥ W Y @ F A G T 6 wrEEny
B Gl W 5% @ ) § @ 9 Ry war, ke gd@ ¥ ST 99 ar
%m%w%ﬁﬁ$Wﬂﬁww@ﬂﬁuﬁrﬁ?ﬁvﬂaﬁml
AMATh FHIENE Hiafte iy

Ravi and Rohit are equal partners. Their capitals are Rs. 40,000 and
Rs. 80,000 respectively. After the accounts for the year have been
prepared it is discovered that interest on capital at 5% p.a. as provided
in the partnership agrecment has not be credited to the capital accounts
before distributing of profit. It is decided to make an adjustment entry
at the beginning of next year. Record the necessary journal entry.

L.

16 e ol foome wrgeR & | 4 @ @7 fwom 302 ¥ @ ¥ 19 g
T AR W ¥ L W Ry wde R ¥ | b, R oht gh
& T WTH - g SEUTd @ T it |

Anil and Vishal are partners sharing profits in the ratio of 3:2.

, . 1 _
They admitted Sumit as a new partner for 5 share in future profits
of the firm. Calculate new profit sharing ratio of Anil, Vishal and Sumit.

Juar, / OR

AT B HuT 1:3 % ogud ¥ uh B ¥ gEer ¥ uirs ¥ ergr
AT TR — ey T @ Polr e ¥ ude @eler @ T
AT GET D AT T @iy |

A and B share profits in a firm in the ratio of 1:3 respectively.

They decide to keep their profit sharing ratio cqual in future.

Find out the gam or sacrifice of E:‘lCh partner.

320/ B-826 1 . P10
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18

19

Write any four modes or forms of reconstitution of partnership firm.
YT / OR |

U B B sl srE e ) 84,000 wftt ad ¥ | sremmm F fabrifma goi

5. 5,09,000% | 3 Wb & e ¥ fafrifva ¢ w oy 12% &

IHERY & . 12,000 =iftes mfvsfes frar smar & 1 ey &t o etfirems

B Gl R m @ | |

The average net profit of the firm is Rs. 84,000 per annum. Capital
invested is Rs. 5.00,000. The rate of return in such business is 12%.
Partner’s are paid Rs. 12,000 for remuneration. Calculate the value of
goodwill by capitalization method of super pfoﬁt.

A W el T faduaielf @1 e @i
Explain any four characteristics of a company.
dqar / OR

91 e e 3 5. 10 I 40,000 3f91 wi9ar § frta o | 399X
I Uit Fregar § - omaeT WX 8. 4, ofded WX 6. 3 ofi 99 aren
a7 | gt TRl gur wWa W #1 S | Bl @l el HOSHe giafedr
BT | ‘

Yas Limited company issued 40,000 shares of Rs. 10 each to the public..

Payable as Rs. 4 on application, Rs. 3 on allotment and the balance
on call. All the amounts were received. Pass the journal entries in the

books of the company.

Sy T WOPS ® W Al ﬁ“rrﬁ?cﬂl l

Write any four differences between share and debenture.
srar / OR

0 wx 2.000, 10% Forast &l
q@ﬁgg@@mﬁiﬁqﬁrwalo_
fmlo;ﬁﬁmﬂq?ﬁﬁﬁmﬁsmtm%ﬁwgaﬁéu%._

AT T ereosmoeerensessesesssesssssesssioe 5. 50
b ve
mﬁnﬁmﬁ'mwwané lzﬁmﬁraﬁg@aﬁﬁqﬁﬁuﬁf&mﬁﬁml

1 I 2.T.0-




21

22

XYZ Industrics Ltd. issued 2,000, 10% debentures of Rs. 100" each,
at a premium of Rs. 10 per debenture payable as follows -

- On .application ................................... Rs. 50

On allotment .........oceeeeeemerereerenenranns Rs. 60

i i ou ies in the
All the amounts were received on time. Pass the journal entri the

book’s of company.

CFOOE % oYW @ Rt RRm) @ aue @i |

Explain the various methods of redemption of débéntures.

It / OR
o firads w1000 sist ¥ R Prifa gea 5. 120-4fk1 sier (36T T
& 100 9fq 3f9n) % lwﬁ%ﬁu@aﬁﬂm(mw)a“rﬁﬁa 20 -9fg

am%mrgfmﬂﬂé’rﬁm|mﬁms=rmﬁamwaﬂ%mw
Sigtl & B0 B SMEIS Usil gAY Sy |

Pooja, a shareholder, failed to pay the money for second and final call

of Rs. 20 on 1,000 shares issued to him at Rs. 120 (face value of

Rs. 100 per share). His shares were forfeited aﬁ:er the second and
final call. Give the necessary journal entry for forfeiture of the shares.

fordrr ot % wiedl @1 swiw @R | (@ Tw)
State the objectives of financial statements. (any “four)

Y / OR

ﬁ%ﬁtrfﬁawﬁa?r%ﬁmqﬁﬁ@q (@F aw)

" Write the limitations of financial statements. (any-four)

.W@W_@mammahmwﬁfﬁﬂlﬁimwaﬁﬁml

Distinguish between receipt any payment A/c and incethe and expenditure
Alc. (any five)

YT / OR

[320]/ B:826 12 [T e
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31 =, 2018 ot Ty, q & foe, A9 Ru o fem Reel w9 & witg o
W@ﬁ%m~mmaﬂm1

%% 31 W 2018 H1 T BN A & fg
-—\\\ W (5) | yuan | w7 (5.
Yy Y
a‘mm e ) 3,200 | 4= | 1,500
: : 22,500 | femrman 200
T = .
EFTQT o | 1250 | el 3,500
= S 2,500 | =T _ 1,700
m ' 750 | BUE @ o@d gl 380
® T 3,000 | fafay == 920
Q&dhl BT hd 7.500
IR 9vsq & &Y 10.000
d& o Wl s
(31-3-2018 =) . 5,000
A9 S & M 1.900 |
33,200 | 33.200

From the Receipt and Payment Account given below. prepare the

Income and Expenditure A/c of Clean Delhi Club for the year ended
315t March, 2018 - |

Receipt and Payme;ﬁ:ti Account for the year ending 315! March, 2018.

Receipis Amount | Payments Amount
_ . (Rs.) (Rs.)
Balance b/d. 3,200 | Salary 1.500
(Cash in hand) Rent 800
Subscriptions 22,500 | Electricity 3.500
Entrance Fees 1,250 | Taxes 1.700
Donations 2,500 | Printing and Stationery 380
Rent of Hall 750 | Sundry Expenses 920
Sales of Book Purchased 7,500 |.
Investments 3,000 | Govt. Bonds
Purchased 10,000
Fixed Deposit with
Bank (on 31-3-2018) 5,000
Balance c/d 1,900
33,200 : 33,200

/ E-826 | 13 (RAWAR TR0 - P.1.0.
\
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How to calculate the amount payable to retired partner ?

HqYar / OR

A fr e faat o o W W ¥ oSt 31 W, 2017 @ wEer @
a1 & & qur 2:1 & U H @y @ fqwme ey §

fager 31 #rd, 2017 #7

Y arsr | w=tEr LE
(%) (5.)

g faus 10,000 | swey TUws 10,000
fafgg e 58,000 | ¥ Jae 40,000
g =g 2,000 | fafgy T9eER 60,000
gt =i 40,000
3 : 1,80,000 499 ud Aqofea 1,00,000
T : 1,50,000 3,30,000 | s | 1,50,000
4,00,000 4,00,000

T fafr & @ & e oadl 9 9ERR 9w

) ® o A & W % R E. 1,00,000 i wfr ¥ R s, 60.000

A |

(2) €9 @1 e . 1,20,000 i TSR ¥ F qw F 10% @ gfig

g5 |

3) w=m . 4,000 ¥ ®9 fear ™ |

(4) ¥IED W 5% H W F G9fFT T F e wmum e S
(5) ® 1,000 % o= @ atfwerad W€l gem |
Ww@ﬂm%qpﬁ@ﬁm|

320 [ / E-826
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Given below is the balance sheet of A and B, who are carrying on
partnership business as on 315t March, 2017. A and B share profits in

the ratio 2:1.

Balance Sheet as on 315 March, 2017

Liabilities Amount | . Assets Amount
(Rs.) (Rs.)

Bills Payable 10,000 | Cash in hand 10,000
Sundry Creditors 58,000 | Cash at Bank 40,000
Outsfanding Exp. 2,000 | Sundry Debtors 60,000
Capital Stock 40,000
A : 1,80,000 | Plant and Machinery 1,00,000
B : 1,50,000 3,30,000 | Building . 1,50,000
4,00,000 4,00,000

C is admitted as a partner on the date of balance sheet on the

following terms :

(1) C will bring Rs. 1,00,000 as his capital and Rs. 60,000 as his
share of goodwill for 1/4 share in profit.

(2) Plant is to be appreciated to Rs. 1,20,000 and the value of building
is to be appreciated by 10%.

(3) Stock is depreciated by Rs. 4,000.

(4) A provision for doubtful debts is to be created at 5% on debtors.

(5) Creditors were unrecorded to extent of Rs. 1,000.

Prepare Revaluation A/c and Partner’s Capital A/cs.

2w wer AR @ d ¥ i B R I @ st

ifpa g & |

Explain in brief the main categories in which the share capital of a

company is divided.

320 | / E-826
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26

AR faftes ¥ w7 oigw fafies 4@ . 630000@@1&@%‘&@ |
g ffies ¥ |9 & AR <. looamgu{aﬁmﬁm%‘rqﬂi’é{ml
A & Torrer wiaReet @ SR A sigh @ (1) FET T
z’raﬁr(u)zo%ﬁﬁwws’r 1

Kumar Limited purchased assets of Rs. 6,30,000 from Bhanu 0j]
Ltd. Kumar Limited 1ssued cquity shares of Rs. 100 each fully paid
up. What journal entriés will be made if the shares are issued
(i) at par and (ii) at premium 20%.

Praffed Qo ¥ o Siqa S i
=, WwEE = 6 50,000, o, gl = 5. 80,000
®i& = % 20,000, qjaﬂwtr—ﬁ 10,000.

Calculate liquidity ratlo from the following mformahons :
Current liabilities = Rs_. .:._50,000, Current assets = Rs. 80,000
Inventories = Rs. 20000 Prepaid exp. = Rs. 10,000,

Ayar / OR

o ST 3.5:1 ¥ | widshe go B, 90,000 | TN wfwat qur a e
& TR o SR |

Current ratio is 3.5: 1.*Working capital is Rs. 90.000. Calculate the
amount of current assets, and current liabilities.

o fhatall wd fatarT: fharell @ Owe vaw o fea-fea we @t

Cqniter feeem AT ® P

What are the items included in cash flow from operating activities and
investing activities ?

A / OR

'ﬂm%mmfm%w%sswﬁm«

Write five examples of cash in flow and cash out flow.

320

/ E-826
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